# ZEROS OF CERTAIN COMPOSITE POLYNOMIALS IN ALGEBRAICALLY CLOSED FIELDS

#### BY

### MAHFOOZ ALAM

The study of the zeros of composite polynomials has mostly been confined to polynomials in the complex plane. The object of this paper is to study the zeros of the composite polynomials which arise as linear combinations of a polynomial and its (formal) derivatives in an algebraically closed field K of characteristic zero. Our main theorem concerning the zeros of such composite polynomials gives certain interesting results which, when applied to the complex plane, furnish improved versions of the corresponding classical results due to Walsh, Marden, and Kakeya. At the end we show that our results cannot be further generalized in certain directions.

#### 1. Introduction

If K is an algebraically closed field of characteristic zero, then we know (cf. [1, pp. 38-40], [6, pp. 248-255]) that there exists a maximal ordered subfield  $K_0$  of K such that  $K = K_0(i)$ , where  $i^2 = -1$ . Once we fix the subfield  $K_0$ , we have a conjugation defined in K and we shall, therefore, denote in the usual manner the real and the imaginary parts and the absolute value of an element in K. A subset A of K is  $K_0$ -convex if  $\sum_{j=1}^n \mu_j a_j \in A$  for every  $a_j \in A$  and  $\mu_j \in K_{0+}$  with  $\sum_{j=1}^n \mu_j = 1$ , where  $K_{0+} = \{\alpha \in K_0 : \alpha \leq 0\}$ . Let  $K_{\omega}$  denote the compactification  $K \cup \{\omega\}$  of K by adjoining a single element  $\omega$  (called infinity) with the following operations:

- (a) The subset K of  $K_{\omega}$  preserves its initial field operations (e.g. addition and multiplication); and
- (b)  $a + \omega = \omega + a = \omega$ ,  $\forall a \in K$ ,  $a_{\bullet}\omega = \omega_{\bullet}a = \omega$ ,  $\forall a \in K \{0\}$ , and  $\omega^{-1} = 0$ ,  $0^{-1} = \omega$ .

For a fixed  $\zeta \in K$ , we define a permutation  $\phi_{\zeta}$  of  $K_{\omega}$  by  $\phi_{\zeta}(z) = 1/(z - \zeta)$  for every  $z \in K_{\omega}$ . We say that a subset A of  $K_{\omega}$  is a generalized circular region ("d.e." according to Zervos [9, p. 353]) of  $K_{\omega}$  if either A is one of the sets  $\phi$ , K,  $K_{\omega}$ , or A satisfies the following two conditions:

- (a)  $\phi_{\zeta}(A)$  is  $K_0$ -convex for every  $\zeta \in K A$ ;
- (b)  $\omega \in A$  if A is not  $K_0$ -convex.

We shall denote by  $D(K_{\omega})$  the class of all generalized circular regions of  $K_{\omega}$ . The empty set  $\phi$ , K,  $K_{\omega}$ , and the single point sets (and their complements in  $K_{\omega}$ )

Received April 6, 1979.

are trivial members of  $D(K_{\omega})$ . The characterization due to Zervos [9, pp. 372–287] of the class  $D(K_{\omega})$  when  $K = \mathbb{C}$  (the field of complex numbers), leads to the following:

PROPOSITION 1.1 (Zervos [9, p. 352]). The non-trivial members of  $D(C_{\omega})$  are the open interior (or exterior) of circles or the open half-planes, adjoined with a connected subset (possibly empty) of their boundary.

The members of  $D(\mathbb{C}_{\omega})$  with all or no boundary points included are called (classical) circular regions of  $D(\mathbb{C}_{\omega})$ . A homographic transformation [9, p. 353] T is a permutation on K defined by

$$T(z) = (az + b)/(cz + d)$$

for some elements  $a, b, c, d \in K$  such that  $ad - bc \neq 0$ . In relation to homographic transformation an important result is the following:

PROPOSITION 1.2 (Zervos [9, p. 353]). Every homographic transformation permutes the class  $D(K_{\omega})$ .

The ball S(a, r) and the closed ball D(a, r), with center  $a \in K$  and radius  $r \in K_{0+}$  are defined, respectively, by

$$S(a, r) = \{z \in K : |z - a| < r\} \text{ and } D(a, r) = \{z \in K : |z - a| \le r\}.$$

It can be seen (cf. [8, Proposition (3.4)']) that the ball and the closed ball are necessarily members of  $D(K_{\omega})$ .

 $\mathscr{F}_n(K)$  and  $Z_f$  will respectively, denote the class of all polynomials of degree n from K to K and the set of all zeros of a given polynomial f. If  $f \in \mathscr{F}_n(K)$  such that  $f(z) = \sum_{k=0}^n a_k z^k$ , we define the *derivative* f' of f formally by  $f'(z) = \sum_{k=1}^n k a_k z^{k-1}$  and the successive derivatives  $f^{(j)}(z)$  of f by  $\sum_{k=j}^n (j!) C(k,j) a_k z^{k-j}$ ,  $j = 0, 1, \ldots$ , with the convention that  $f^{(0)} \equiv f$ . Clearly the derivative of a constant polynomial is identically zero and  $f^{(j)} \in \mathscr{F}_{n-j}(K)$  for every  $j \leq n$ . If  $P(z) = \lambda z^n$ ,  $\lambda \in K$ , we easily verify that

(1.1) 
$$P^{(k)}(z) = (k!)C(n, k)\lambda z^{n-k}, \quad k = 0, 1, ..., n.$$

From the definition of derivatives, it is also obvious that

$$(1.2) (f+g)' = f' + g'$$

for any polynomials f and g.

Let C(n, k) = n!/k!(n-k)!. If  $f, g \in \mathcal{F}_n(K)$  and are given by

$$f(z) = \sum_{k=0}^{n} C(n, k) A_k z^k, \qquad g(z) = \sum_{k=0}^{n} C(n, k) B_k z^k,$$

we say [9, p. 362] that f and g are (mutually) apolar (written briefly as  $f \perp g$ )

if the following condition is satisfied:

$$\sum_{k=0}^{n} (-1)^{k} C(n, k) A_{k} B_{n-k} = 0.$$

This concept is too well known in the case when  $K = \mathbb{C}$ . The following result due to Zervos [9, p. 363] gives the relative location of the zeros of two apolar polynomials. For  $K = \mathbb{C}$  and  $A \in D(\mathbb{C}_{\omega})$ , this theorem is a fundamental result due to Grace [2] (see also Marden [4, Theorem (15.3)]).

THEOREM 1.3. Let  $f, g \in \mathscr{F}_n(K)$  and  $A \in D(K_\omega)$ . If  $Z_f \subseteq A$  and  $f \perp g$ , then  $Z_g \cap A \neq \phi$ .

Quite a number of mathematicians have studied the problem of determining the location of the zeros of composite polynomials (i.e. the polynomials derived in various ways by composition of two or more given polynomials). But this study has mostly been confined to polynomials in  $\mathcal{F}_n(C)$  (a wide coverage of these topics can be seen in Marden [4]). However, in relation to polynomials in more general spaces, this problem has so far been tackled only by Zervos [9, p. 363] and Zaheer [8, Theorem (22.2)] in their attempts to generalize a (classical) result due to Szegö [5, Section 2, Theorem 2]. Our object, in this paper is to study certain composite polynomials in  $\mathcal{F}_n(K)$ .

# 2. Main theorem and its consequences

We shall primarily study the zeros of linear combinations of a polynomial and its (formal) derivatives. From our main theorem we shall obtain certain interesting results concerning the zeros of such composite polynomials. In order to prove our main theorem, we establish the following two lemmas. Lemma (2.1) offers a simple method for constructing polynomials apolar to a given polynomial and generalizes a classical result of Szegö [5] (see also Marden [4, Theorem (15, 2), p. 61]) and Lemma (2.2) is related to a result as given in Marden for  $K = \mathbb{C}$  [4, p. 65].

LEMMA 2.1. If a polynomial  $f(z) = \sum_{m=0}^{n} a_m z^m$  in  $\mathcal{F}_n(K)$  satisfies the relation  $\sum_{m=0}^{n} a_m \mu_m = 0$ , with  $\mu_0 \neq 0$ , then the polynomial  $G(z) = \sum_{m=0}^{n} (-1)^{n-m} C(n,m) \mu_m z^{n-m}$  is apolar to f(z).

*Proof.* Trivial in view of the definition of apolarity.

LEMMA 2.2. Let  $f \in \mathcal{F}_n(K)$  and  $P(t) = t^n$  for every  $t \in K$ . If  $\gamma$  is a zero of the polynomial

(2.1) 
$$h(z) = \sum_{k=0}^{p} l_k f^{(k)}(z), \quad l_k \in K (l_0, l_p \neq 0, 0 \leq p \leq n),$$

then the polynomial  $G(z) = \sum_{k=0}^{p} l_k P^{(k)}(\gamma - z)$  is apolar to f(z).

*Proof.* Throughout the proof we shall follow the convention that k! = 0 if k < 0 and that C(n, k) = 0 for k > n or k < 0. If  $f(z) = \sum_{m=0}^{n} a_m z^m$ , then (cf. (1.1) and (1.2))

$$f^{(k)}(z) = \sum_{m=k}^{n} (k!)C(m, k)a_m z^{m-k} = \sum_{m=0}^{n} (k!)C(m, k)a_m z^{m-k}.$$

From (2.1) we therefore obtain

$$h(z) = \sum_{k=0}^{p} l_k \left[ \sum_{m=0}^{n} (k!) C(m, k) a_m z^{m-k} \right]$$
  
= 
$$\sum_{m=0}^{n} a_m \left[ \sum_{k=0}^{p} (k!) C(m, k) l_k z^{m-k} \right].$$

This implies that  $h(\gamma) = \sum_{m=0}^{n} a_m \mu_m = 0$ , where

$$\mu_m = \sum_{k=0}^{p} (k!) C(m, k) l_k \gamma^{m-k}, \ \mu_0 = l_0 \neq 0.$$

Hence by Lemma (2.1), the polynomial

$$G(z) = \sum_{m=0}^{n} (-1)^{n-m} C(n, m) \mu_m z^{n-m}$$

is apolar to f(z). Now, we compute G(z) in the desired form as follows:

$$G(z) = \sum_{m=0}^{n} (-1)^{n-m} C(n, m) z^{n-m} \left[ \sum_{k=0}^{p} (k!) C(m, k) l_k \gamma^{m-k} \right]$$

$$= \sum_{k=0}^{p} l_k \left[ \sum_{m=k}^{n} (-1)^{n-m} C(n, m) (k!) C(m, k) \gamma^{m-k} z^{n-m} \right]$$

$$= \sum_{k=0}^{p} l_k \left[ \sum_{m=k}^{n} (k!) C(n, k) C(n-k, m-k) \gamma^{m-k} (-z)^{n-m} \right]$$

$$= \sum_{k=0}^{p} (k!) C(n, k) l_k \left[ \sum_{m=0}^{n} C(n-k, m-k) \gamma^{m-k} (-z)^{(n-k)-(m-k)} \right]$$

$$= \sum_{k=0}^{p} (k!) C(n, k) l_k (\gamma - z)^{n-k}$$

$$= \sum_{k=0}^{p} l_k P^{(k)} (\gamma - z) \quad \text{(due to (1.1))}.$$

This completes the proof.

Now, we proceed to prove our main result.

THEOREM 2.3. Given  $f \in \mathcal{F}_n(K)$ , let us define

$$h(z) = \sum_{k=0}^{p} l_k f^{(k)}(z), \quad l_k \in K (l_0, l_p \neq 0, 0 \leq p \leq n).$$

If  $A \in D(K_{\omega})$  such that  $Z_f \subseteq A$ , then every zero  $\gamma$  of h(z) is of the form  $\gamma = \alpha + \beta$  for some suitable choice of elements  $\alpha \in A$  and  $\beta \in Z_F$ , where

$$F(z) = \sum_{k=0}^{p} (k!)C(n, k)l_k z^{n-k}.$$

*Proof.* If  $\gamma \in Z_h$ , Lemma (2.2) implies that f(z) is a polar to the polynomial

$$G(z) = \sum_{k=0}^{p} l_k P^{(k)}(\gamma - z),$$

where  $P(t) = t^n$  for every  $t \in K$ . Since

$$P^{(k)}(\gamma - z) = (k!)C(n, k)(\gamma - z)^{n-k},$$

we have

$$G(z) = \sum_{k=0}^{p} (k!)C(n, k)l_{k}(\gamma - z)^{n-k}.$$

Since  $Z_f \subseteq A$  and  $f \perp G$ , Theorem (1.3) implies the existence of an element  $\alpha \in A$  such that  $G(\alpha) = 0$ . Hence

$$G(\alpha) = \sum_{k=0}^{p} (k!)C(n, k)l_k(\gamma - \alpha)^{n-k} = F(\gamma - \alpha).$$

Consequently, there exists a zero  $\beta$  of F(z) such that  $\gamma - \alpha = \beta$ . That is  $\gamma = \alpha + \beta$  and we are done.

As applications of the above theorem, we establish the following corollaries concerning some interesting polynomials in  $\mathcal{F}_n(K)$ .

COROLLARY 2.4. Given the polynomials  $f(z) = \sum_{k=0}^{n} a_k z^k$ ,  $g(z) = \sum_{k=0}^{n} b_k z^k$  in  $\mathcal{F}_n(K)$ , let us define

$$h(z) = \sum_{k=0}^{n} (n-k)! b_{n-k} f^{(k)}(z).$$

If  $A \in D(K_{\omega})$  such that  $Z_f \subseteq A$ , then every zero  $\gamma$  of h(z) is of the form  $\gamma = \alpha + \beta$  for some suitable choice of elements  $\alpha \in A$  and  $\beta \in Z_g$ .

*Proof.* In the notations of Theorem (2.3), if we choose  $l_k = (n-k)! b_{n-k}$ , we see that F(z) = (n!)g(z). Now the proof immediately follows from Theorem (2.3).

For the case when  $K = \mathbb{C}$ , the above corollary gives an improved version of a result due to Walsh [7] (cf. also [4, Theorem (18.1)]), improvement in the sense that we use generalized circular regions of  $\mathbb{C}_{\omega}$  instead of the classical ones.

COROLLARY 2.5. Let  $f \in \mathcal{F}_n(K)$  and  $A \in D(K_\omega)$  such that  $Z_f \subseteq A$ . Then every zero  $\gamma$  of the polynomial

$$h(z) = f(z) - \lambda f'(z), \ \lambda \in K - \{0\}$$

is of the form  $\gamma = \alpha$  or  $\gamma = \alpha + n\lambda$  for some  $\alpha \in A$ .

*Proof.* Using the notations of Theorem (2.3) and putting p = 1,  $l_0 = 1$  and  $l_1 = -\lambda$ , we obtain  $F(z) = z^n - n\lambda z^{n-1} = z^{n-1}(z - n\lambda)$ , so that the zeros  $\beta$  of F(z) are given by  $\beta = 0$  and  $\beta = n\lambda$ . Now Theorem (2.3) establishes our claim.

For  $K = \mathbb{C}$ , the above result gives an improved version of a result due to Marden (cf. [4, Corollary (18.1)]).

COROLLARY 2.6. If  $f, g \in \mathcal{F}_n(K)$  such that  $Z_f \subseteq S(0, r)$  and  $Z_g \subseteq D(0, s)$ , then all the zeros of the polynomial

$$h(z) = \sum_{k=0}^{n} l_k f^{(k)}(z), \quad l_0 \neq 0$$

lie in S(0, r + s) (cf. notations following Proposition (1.2)).

*Proof.* Let  $\gamma \in Z_h$ . Then (cf. Theorem 2.3), there exist  $\alpha \in S(0, r)$  and  $\beta \in Z_g$  such that  $\gamma = \alpha + \beta$ , hence  $|\gamma| \le |\alpha| + |\beta| < r + s$  and the result follows.

For  $K = \mathbb{C}$ , the Corollary (2.6) is a result due to Kakeya [3] (see also [4, p. 86]).

As an application of Theorem (2.3) in the complex-plane, we give the following.

COROLLARY 2.7. Let  $f \in \mathcal{F}_n(\mathbb{C})$  such that  $Z_f \subseteq S(0, r)$ . Then all the zeros  $\gamma$  of the polynomial

$$h(z) = \sum_{k=0}^{p} \mu^{k}(n-k)! f^{(k)}(z), \quad 0 \le p \le n, \ \mu \in \mathbb{C} - \{0\},$$

lie in  $S(0, r + |\mu|)$ .

*Proof.* In Theorem (2.3), putting  $l_k = \mu^k (n - k)!$ , we get

$$F(z) = (n!)(z^{n} + \mu z^{n-1} + \mu^{2} z^{n-2} + \dots + \mu^{p} z^{n-p})$$

$$= (n!)z^{n-p}(z^{p} + \mu z^{p-1} + \mu^{2} z^{p-2} + \dots + \mu^{p})$$

$$= (n!)z^{n-p} \cdot \frac{z^{p+1} - \mu^{p+1}}{z - \mu}, \quad \forall z \neq \mu.$$

Obviously (since  $F(\mu) \neq 0$ ), the only zeros of F are the origin (z = 0 is a zero of F(z) only if p < n) and the roots other than  $\mu$  of the equation  $z^{p+1} = \mu^{p+1}$ . If  $\omega_k$  (k = 0, 1, ..., p) are the roots of this equation and if  $\mu = re^{i\theta}$ , then

$$\omega_k = r \exp \left[i\left(\theta + \frac{2k\pi}{p+1}\right)\right], \quad k = 0, 1, \dots, p,$$

with  $\omega_0 = \mu$ . Therefore, the zeros  $\beta_k$  (k = 0, 1, ..., p) of F are given by  $\beta_0 = 0$  (since p < n),  $\beta_k = \omega_k$  (k = 1, 2, ..., p). Then any zero  $\gamma$  of h(z) (by Theorem (2.3)) is either  $\gamma = \alpha$  or  $\gamma = \alpha + \omega_k$  (k = 1, 2, ..., p) for some complex number  $\alpha$  such that  $|\alpha| < r$ . Finally, since  $|\omega_k| = r = |\mu|$  for every k = 1, 2, ..., p, we see that either  $|\gamma| = |\alpha| < r$  or  $|\gamma| < r + |\mu|$ . That is, in either case  $|\gamma| < r + |\mu|$  and the result follows.

## 3. Some Examples

In this section, we give some examples to show that our results in Section 2 cannot be further generalized in certain directions. Our first example shows that Theorem (2.3) and Corollaries (2.4)–(2.6) do not hold, in general, for nonalgebraically closed fields of characteristic zero.

Example (3.1). Let 
$$K_0$$
 be a maximal ordered field,  $A = \{-1\}$ , and let  $f(z) = z^3 + z^2 + z + 1 = (z^2 + 1)(z + 1), \forall z \in K_0$ .

Then [6, pp. 233, 250]  $K_0$  is a nonalgebraically closed field of characteristic zero,  $f \in \mathcal{F}_3(K_0)$  such that  $Z_f \subseteq A$  (since  $z^2 + 1$  cannot vanish [1, p. 36]), where A is a generalized circular region of  $K_0$ . Taking p = 1,  $l_0 = 1$  and  $l_1 = -1$ , we see that the polynomials h(z) and F(z) of Theorem (2.3) are, respectively, given by  $h(z) = z[(z-1)^2 - 2]$ ,  $F(z) = z^2 \cdot (z-3)$ . Now all the hypotheses in Theorem (2.3) are satisfied, whereas no zero of h(z) can be expressed in the form as claimed by Theorem (2.3). That is, Theorem (2.3) does not hold (in general) for the field  $K_0$ .

The next example shows that Theorem (2.3) cannot be further generalized in the following sense: The generalized circular region A (employed in this result) cannot be replaced, in general, by generalized circular region adjoined with arbitrary subset of its boundary.

Example (3.2). Take  $K = \mathbb{C}$ ,  $B = \{z \in \mathbb{C} : \text{Im } (z) < 0\} \cup \{-1, 7/5\}$ , and  $f(z) = 5z^2 - 2z - 7$  for  $z \in \mathbb{C}$ . Then  $f \in \mathscr{F}_2(\mathbb{C})$  such that  $Z_f \subseteq B$ , where  $B \notin D(\mathbb{C}_{\omega})$  but the interior of B does belong to  $D(\mathbb{C}_{\omega})$ . For p = 1,  $l_0 = 1$ ,  $l_1 = 1/2$ , the polynomials h(z), F(z) of Theorem (2.3) are, respectively, given by  $h(z) = 5z^2 + 3z - 8$ , F(z) = z(z+1). Now it is easy to verify that no zero of h(z) is of the form as claimed by Theorem (2.3). That is, it no longer holds when A is replaced by the above set B.

Acknowledgment. The author is thankful to Dr. Neyamat Zaheer for his helpful suggestions and advice in the course of this work.

#### REFERENCES

- N. BOURBAKI, Éléments de mathematique, XIV. Part 1, Les structures fondamentales de l'analyse. Livre II: Algébre, Chap. VI: Groups et corps ordonnés, Actualities Sci. Indust., no. 1179, Hermann, Paris, 1952, MR 14, 237.
- 2. J. H. Grace, On the zeros of a polynomial, Proc. Cambridge Philos. Soc., vol. 11 (1900-1902), pp. 352-357.
- 3. S. Kakeya, On algebraic equations having the roots of limited magnitude, Proc. Phys. Math. Soc., Japan (3), vol. 3 (1921), pp. 94-100.
- 4. M. MARDEN, Geometry of polynomials, rev. ed. Math. Surveys, no. 3, Amer. Math. Soc., Providence, R.I., 1966.
- S. SZEGÖ, Bemerkungen zu einem satz von J. H. Grace, über die wurzeln algebraischer Gleichungen, Math. Zeitschr., vol. 13 (1922), pp. 28-55.
- 6. B. L. VAN DER WAERDEN, Algebra, Vol. I, 4th ed., Die Grundlehren der Math., Wissenschaften, Band 33, Springer-Verlag, Berlin, 1955, English transl. Ungar, New York, 1970.
- 7. J. L. Walsh, On the location of the roots of certain types of polynomials, Trans. Amer. Math. Soc., vol. 24 (1922), pp. 163-180.
- 8. N. Zaheer, Null-sets of abstract homogeneous polynomials in vector spaces, Doctoral Thesis, Univ. of Wisconsin, Milwaukee, Wis., 1971.
- S. Zervos, Aspects modernes de la location des zéros des polynômes d'une variable, Ann. Sci. École Norm Sup. (3), vol. 77 (1960), pp. 303-410. MR 23 ≠ A 3241.

ALIGARH MUSLIM UNIVERSITY
ALIGARH, INDIA